
MAN-M-LBB, 5929-C 

Onset Computer Corporation 
Light Sensor Bracket Packing List 

(part # M-LBB) 
 

 

 

 Qty √ Item(s) 
A 1  Light Sensor Mounting Bracket 
B 2  Lock Washers #6 
C 2  6-32 x 5/16” Phillips Pan Head Screws 
D 3  6-32 x 3/8” Thumb Screws 
E 2  1 5/8” U-bolt with Saddle Clamp and Nuts 

 

 

 

 

 

 
 

 

 

 

Additional Information 

Refer to the HOBO Weather Station User’s Guide for assembly and operating instructions. 

For further information, please contact your place of purchase: Onset Computer Corporation or an 

Authorized Onset Dealer. 

 

A 

B 

E
C

D

www.GlobalTestSupply.comFind Quality Products Online at: sales@GlobalTestSupply.com


